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SECTION -1 : General Awareness I91 - 1 : AGIS WRNISH (WH AIgS3T)
Q1 Jnanpith award 2020 was conferred Q1 fimradts YgAdd 2020

on poet Akkitham. CEl wia3H
(Akkitham) & &3 famm|

(A) Malayalam
(A)  HEWBH

B Telugu

(B) g B) 35T

(C)  Tamil (c) 3z

(D) Kannada (D) d&aF

Q2 Which former Textiles Minister Q2 fog3d Ager JUF™ H3dl & II3

inaugurated the 8" edition of India W3gHedl 3N AY © Wae HAdIE
International Silk Fair? T Gewes di3?

(A)  Smriti Irani | (A)  HE dTat

(B)  Nirmala Sitharaman (B) f&aH®™ AIZ9HG

(C) Ramesh Pokhriyal (C) IRE Hfows

(D)  Amit Shah (D) wWH3 AT

Q3 In which year, Chandrayaan-2 Q3 fiHe Tedus-2 I3 A &Y 37

mission was launched? famir A2

(A) 2018 (A) 2018
B) 2019 . (B) 2019
(©) 2020 (C) 2020
(D) 2017 (D) 2017

e e s
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Q4

Q5

Q6

The World Environment Day is Q4

celebrated on

(A)

(B)

(©)

(D)

1 May
10 July
S June

2 February

Which of the following is the Q5

smallest river of Punjab?

(A)

(B)

©)

(D)

Beas
Satluj
Ravi

Chenab

Which of the following canal is in Q6
Punjab?

(A)

(B)

(©)

(D)

Gandak canal

Kosi canal

Son canal

Sirhind canal

feme T3<gs feem &
Hofem Afer J|

(A) 1HE

(B) 10 guE

(). 5g6

(D) 2 eIt

I RS fagzr Uag & 79 3
g efgnr 37

(A femmm

(B) H3BA

(c) T

(D) fo&o=

J?

(A) i3 Bfgg
(B) o &fgg
(c) WA&BfIT
(D) wIfJE afag
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Q7

Q8

Q9

Which of the following centrally Q7

sponsored schemes is implemented in

Punjab for the development of

horticulture?

(A) MIDH
(B) KUPY
(C) PMRF
(D) NDRF

Which cropping refers to growing of Q8

only one crop on the same piece of

land year after year?

(A) Catch cropping
(B)  Mixed cropping
(C) Relay cropping

(D) Monocropping

Who killed General Dyer in England?
(A) Sardar Udham Singh

(B) Kartar Singh Sarabha

(C) Baba Gurdit Singh

(D)  Sardar Balwant Singh

Ury &9 saget © fean 3 I
AUTAT SIS wAaT=r S SiSmm
JEMTEHS? )

(A) MIDH
(B) KUPY
(C) PMRF
(D) NDRF

frast gk f & 93 9 7B

75 fa It gAg Gar@e T g fear
37

(A) 3T filar

(8) fiaw3 il

(c) fa&gfifar

(D)  H&fifar

T wre g3fan?

(A) AITT GuH fiy
(B) SI3g fAwW AgST
(c) g9 Jafe3 fiw

(D) FITJ L3 fHY
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Q10  Who founded Patiala Riyasati Dal?

Q11

Ql2

(A) Sewa Singh Thikariwala
(B)  Kartar Singh Sarabha
(C) Bhai Laxman Singh

(D) Lala Lajpat Rai

Which Sikh Guru, fourth of the 10 Q11

gurus, founded the city of Amritsar?
(A)  Guru Nanak Dev

(B)  Guru Har Rai Sahib

(C)  Guru Arjan Dev

(D)  Guru Ram Das

Which programming language listed Q12

below is currently most commonly

used in the field of Data Science?

(A) C++
(B) JAVA
) C

(D)  Python

Q10 ufenwsr fowA3t €8 S AFUST farAs

S3T?

(A) A iy StgdtesT
(B) oI3d fHY Agor
(C) I BAHE fHY

(D) BT IFIHAYI I

fidt @ 10 Igwofed fan 98 99 &
wfiEAI Aiga T AEUST SiST?

(A) HIIEFeITIH
(B) HIg Ifg I wrfas At
(C) HIIIAG BT H

(D) HIIIHTHA

TIIHS IeT fefamis 939 g Ag 3
2g Quuigr 3T A 97

(A) C++

(B)\ JAVA

(c) cC

(D) UHEs
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Q13 Which among the following is not an Q13 fos™ &5 fagz™ H3 A3 T TJIEIS

Arthropoda from Animal kingdom 3 WIEIUIT &It I?
classification? (A)  IEH
(A) Silkworm ' ke

(B) Honey bee ® by

(C) King crab (©) o

(D)  Earthworm (D) i3

Q14  Where is the Sri Harmandir Sahib Q14 3t gfores Afow T Joewa &8

Gurudwara located? Afgs I?

(A) Amritsar (A) ifigAg
(B) Ludhiana ‘ (B) gftmirer
(C) Patiala (c) ufewsr
(D) Bhatinda (D) =&z

Q15 The mineral that is NOT often Q15 €Y oz ufen I 7 Haas Teg &9

present in mineral wateris . ).’rag &It ger?
(A) calcium (A) SABHMH
(B) magnesium (B)  NIISTHMMH
(C) potassium (c) U
(D) tritium ‘ (D) ??_C;T’\D-f

Q16 Baba Ram Singh was the leader of Q16 == I fHW faA Bfgg @ 33" AG?
which movement? (A)  fity 7o B9
A Singh Sabha movement »
e = ' (B) fodardt sfag
(C) Radha Soami movement (C)  ITr vl BITS
(D) Kuka movement (D) T Bfgg

(B) Nirankari movement

M
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Q17 What is the outfit for men while Q17 317" T (FY) II& AN WEHMTBE!

performing Bhangra dance form? fgI3 SuR IT I&?

(A) Kurta and Lehenga (A) I3 W3 BfJar
(B) Lungi and Shirt (B) SBIt w3 IHH
(C) Lungi and Jugi (c) ZItw3 gan

(D) Lungi and T-Shirt (D) B w3 A-Hae

Q18 Who was the first Defence Minister Q18 393 © ufgd Ifetmr H3<h aE s, A

of India, who belongs from Punjab? UAe 78 A8 Jue AG?
(A)  Giani Zail Singh (A)  famrdt 93 fig
(B) Beant Singh . (B) =miz iy

(C) Manmohan Singh (C) Hongs fity

(D) Baldev Singh (D) =& iy

Q19 Who is the Speaker of Punjab Q19 #® 2021 Rg UA= feus A T
" Legislative Assembly in the year mitag € I67

20217 et
(A) e fiiy 9t

(A)  Ajaib Singh Bhatti

(B)  Capt. Amarinder Singh (B) auTa wivfded fry

(C) V.P.Singh Badnore (C) At fiw gT&g

(D) Rana Kanwar Pal Singh D) =4 urs fifur

M
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Q20 Which festival is also celebrated to Q20 fagz™ €3nA< iy ugH fT ygA ©

mark the birth of the Khalsa in 76 ©F fereedt s9s 8 @&
Sikhism? Hafam Her J?

(A) Hola Mohalla (A) IS HIST

(B)  Lohri (B) BIH

(C)  Gurupurab (c) dJgusId

(D) Baisakhi (D) fermdt

Q21 Who among the following is not Q21 fegst f&F d= Ung 2 A0l Hell3 &3

associated with Sufi music of Punjab? HEU3 &I 37

(A) Baba Farid (A) g9 odie
(B) Baba Sehgal (B) =g AIIIS
(C) Bulleh Shah (C) Sjlag Hd

(D)  Shah Hussain (D) "I IAS

Q22 Who built the famous Moti Bagh Q22 U= f&g fans yfita A3t g1 I8A

Palace in Punjab? gerfenr?

(A) Maharaja Duleep Singh‘ (A)  HII s iy
(B) Maharaja Narinder Singh (B) HIIT afded fiw
(C) Maharaja Ranjit Singh (C) HIIT IeA3 iy
(D)  Sir Ganga Ram | (D) HI I IH

#
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Q23  Under which scheme, youth will act Q23 fqH WHe T 3fg3 &< Uy &9

Q24

Q25

as catalyst to curb drug addiction

from Punjab?

(A) Aajeevika Grameen Express
Yojana

(B) Punjab Pani Bachao Paise
Kamao Scheme

(C)  Aashirwad Scheme

(D) Punjab Buddy Drug

Eradication Program

Which  Union
Punjab on the North?

Territory

(A) Daman and Diu
(B) Jammu and Kashmir
(C) Delhi

(D) Ladakh

As per Census 2011, which of the Q25

following districts of Punjab has the
highest population?

(A) Hoshiarpur

(B) Bathinda

(C) Ludhiana

(D) Jalandhar

borders (24

R 1 83 § J9E T BE G3YIa © 39
‘3 I II&A?

(A)  wirtfesr ImitE WeamdA wraT

(B) UAyg ust g€ IR IHE
HAH

(C) wilgeT AeltH
(D)  UAS I3 I HIH YaIH

g3 ded AH3 YSr &3 S J?
(A) THE W3 fe@

(B) HH W3 Imilg

(c) f&

(D) e

2011 T HITHEHS waAd UdAe ©

faaz iR < AaHftmr 79 3 S0 2
(A)  gfmraus

(B) =fé63"

(c) gfmrer

(D) wBUg
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Q26 The procedure for impeachment of Q26

Q27

Q28

Q29

the President is a process.
(A)  judicial

(B) legislative

(C) executive

(D) quasi-judicial

Which among the following is an Q27
ascetic sect of Punjab founded by
Baba Sri Chand? ‘

(A) Nirmala

(B) Nirankari

(C) Khalsa

(D) Udasi

Diamond is made of which element? Q28
(A) Oxygen

(B) Carbon

(C) Hydrogen

(D) Nitrogen

The Indian Federal System is Q29

borrowed from which of the

following countries?

(A) TheUS

(B) Australia
(C)  Switzerland
(D) Canada

I3t © fusTe Haten & yfafamr
FGor g J

(A)  fenrfEs

(B) feuad

(C) SrIHaTIt

(D) wIg-fonex

Jot fEfammfes fagzr g=r it de it

oI AFU3 i3 fomir Uae T i

A fogar

(A) fogusr

(B) fadardt

(C) YSH

(D) e

i fam 33 T gfewr Jer 2

(A)  WIHHS

(B) IIES

(C) TEIAS

(D) TERHS

2H 3 wigftarg i3t et 32

(A)  nHItET

(B) WHIEMI

(c) nAfecHad3

(D) &I
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Q30 Human blood has all of the following Q30 W&t Bg ffT J& ffaweT farn &§&3

components, except: 3 g9 A W Qé IJ&?
(A) Blue blood cells (A) BBIa3E

(B) Red blood cells (B) FZIA3E

(C)  White Blood cells (C) FWSTIIIE BIRS
(D) Platelets (D) UBSBcH

Q31 Which of the following panchayat Q31 WHE Hfg3™ ISt & fggsr & a3t
systems did the Ashok Mehta Ugrfes yerait < feran o3t At?

Committee recommend? e Cie .

(A)  feg-Uudt dorfest yergt
(A) Single-tier panchayat system

(B) =-Undt ez yedt
(B)  Two-tier panchayat system

(C)  Three-tier panchayat system (c) fFa-uudtUerfes yzrat

(D) Four-tier panchayat system (D) TI-Yud Ugrfes yeat

Q32 The first municipal corporation in Q32 3II3 ffT UIS™ &IF foa

India was set up in: feg mey3 i3 fami |
(A) Madras (A)  HEIH

(B) Bombay (B) ==

(C) Calcutta (C) aBA3"

(D)  Lucknow | (D) BHGY

R RRARRRRRRReeeeeeem—m—m—m////— ]
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L NS i
Q33 Indiahasresortedto _ formof Q33 393 & IHIIUST HHASG LIE'B’Y e
government as opposed  to fedu Rg Agag @ ___ gu ©
presidential form of government, AT fonr I, fAan &8 AT © I3
whereby each head of the government Heft & et HerEedt 2 u=d|
must render its accountability. (A) fEﬂGIFﬁ
(A) Timocracy (B) IWI3I
(B) Monarchy ) Rt
(C)  Parliamentary (D) aTHsIIT

Q34

Q35

(D)  Aristocracy

In which year were the Official Q34

Language Rules framed under the
provisions of section 8(1) of the

Official Languages Act, 19637

(A) 1975
(B) 1976
(C) 1977
(D) 1978

Which Article of constitution of India Q35

contains provisions of  the

Fundamental Duties?

(A) 49
(B) 45
(C) SI1A
(D) 50

fam 75 &g witags <t © Wae,
1963 © AHG 8(1) © feus € 3fg3
Witerg3 T fstH famrg 382

(A) 1975

(B) 1976

(c) 1977

(D) 1978

I3 dfers <t fagdt oo K9 s
gad ¢ s AHS I&?

(A) 49

(B) 45

(C) ©51A

(D) 50

ﬁ
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SECTION -2 : Quantitative Aptitude and

Q36 A and B can do a job together in 8 Q36

Q37

Q38

Numerical Skills

days. A is 1/4 times as efficient as B.
The same job can be done by A alone

in:

(A) 40 days
(B) 10 days
(C) 12 days
(D) 20 days

Paresh, Rajan and Subham can build Q37

a wall in 6 days. Subham alone can
build the wall in 24 days. In how
many days can Paresh and Rajan

build half of the wall working

together?

(A) 8days
(B) 4 days
(C) 5Sdays
(D) 12 days

The average of the first 7 multiples of Q38

4 is:

(A) 32
(B) 112
(C) 16
(D) 56

FA-2: HIITIH W3 w3
Aftmr3Ha g&g

A3 B e & 8 i § 8 fea™ T

I9 ASE I&I A, B 3 1/4 T IAS I

&t a0 fodd A T fds feat <o

3T 7 Aaer 97

(A) uwofes
(B) 10fes
(c) 12fes
(D) 20fes

UIH, IHe w3 gIH g du & 6 foa’
f&g ger Ao Jal g3 fadsT fen du
§ 2u foot 99 g Aaer J1 U\ w3

Wt §u & "ET AT I67?

(A) 8fes

(B) ufes

(c) sfes

(D) 12fes

4 2 Ufg® 7 Jeat < WAz fdat 37
(A) 32

(B) 112

(c) 16

(D) 56

ﬁ
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Q39 Six years ago, the average age of a Q39 & A'® Ufgsf, 5 Aggt € ufgeg o

Q40

family of 5 members was 32 years.
During this period, a baby is born in
the family. Even now, the average
age of the family is the same as it was
6 years ago. What is the age of the
baby?

(A) 3 years
(B) 2 years
(C) 4 years
(D) 5 years

A shopkeeper bought two chairs for X
4,200. He sold one chair with 8%
profit and the other at a loss of 9.5%.
In the whole transaction, he neither
lost nor gained. What is the cost price

of the chair which was sold at loss?

(A) 22,100
(B) 2,280
(C) 1,920
(D) 2,000

Q40

wWH3 €19 32 7% A forn A 2975,
Ufgeg g ffg €9 & AaH fanrm Jg,
ufgeg &t W3 GHg €3t I fHat feg
6 ATS Ufgat Hl 99 & 13 faat 372

(A) 37
(B) 2H®
(C) LAY
(D) 57

g Taeed & ¥ 4,200 MO T
FIrAmmydem R s I9rt 8%
&Y &8 W3 TH 9.5% TS &8
Y3 Ae &g, OFg & 37 &9 Jfewr &
R TS R ITRt T ENE HS St At 7

ISt ‘3 o e A2
(A) %2100
(B) %2,280
(C) ®4920
(D) %2,000

ﬁ
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Q41 A sum of money invested on Q41 fig Tagw AUIS fowH ‘3 fo<nm

simple interest amounts to ¥ 620 in 996 ‘3 3 A €9 2 620 J IE W3
3 years and to T 690 in 5 years. 5 A& R9 2 690 J I8l §I ToITH
The sum invested is: fefast 9

(A) 550 (A) ¥550

(B) %410 (B) ZL410

(C) 585 (C) Z585

D) 2515 (D) %515

Q42 Find the value of x if Q42 x ¥ WS Uz &, &9

x[=5{-2 (=)}l + x[-5{-2 (-a )}l +
7[-3{(=7)(-a)}] = 10a 7[-3{(=7)(~a)}] = 10a I
157 _1i
Ty "
156 ' (B) _1_
B 5 =
(®) _ 1o (C) —11—506
10 (D) _ﬂ
157 -
©) -

43 0.753%0.753+2%0.753%x0.247+0.247x%0.247 Q43 0.753%0.753+2%0.753%X0.247+0.247%0.247
Q 0.541X0.541+2X%0.541x%0.459+0.459%x0.459 0.541%0.541+2%0.541%X0.459+0.459%0.459
is equal to:
2 g99d J|
A 1
®) ; (A) 1
(B) -1
C 0
© () O
(D) 2 (D) 2

#
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Q44  What should be added to 15 > to get Q44 18 2 yu3 535 o8& 15 Ry of

Q45

18 29

(A) 3%
(B) 3%
(C) 2§
(D) 2%

When 47742 is divided by 146, we Q45

get the quotient as 327. What will be
the quotient if 47.742 is divided by
0.0146?

(A) 3270
(B) 327
) 327
D) 327

Afgar Frer grdter 97
(A) 32
(B) 3¢
(C) 2=
(D) 2=

e 47742 & k6 &G IaT fE37 AT
3, 3 A 327 IWME Yu3 IE' I
IS fdar I[M, AT 47.762 §
0.0146 &S T 3™ AT I?

(A) 3270
(B) 327
(c) 327
(D) 3.27

—————————————————————
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Q46 A lentX 1,500 to Ram for 3 years and (46

Q47

% 1,200 to Shyam for 2 years and
received from both T 600 as simple

interest. The rate of interest is:

(A) 5%
(B) 10%
C) 7%
(D) 15%

Answer the questions from 48 to 50 Q47

with the help of given frequency
polygon:-
(X axis Number of

workers, Y axis represents number of

represents

products manufactured)

800 700

600 /\ 00
500 s, \
400 /

300 Z(p//

200

&

100
0

10 20 30 40 50

What is the range of the workers
which give the highest production?

(A) 200 to 600
(B) 500 to 1000
(C) 400 to 1000
(D) 400 to 800

A, IH & 3 S Bl T 1,500 W3 HH
§ 2 AS B 2 1,200 ffer I w3 o=t
3 Aogs fowd & T 600 YUs

ggTr J| fewd B9 3
(A) 5%

(B) 10%

c) 7%

(D) 15%

&3 I g9993" g5g3d © WO9 3
48 3 50 3 YAt T €39 fe8:-
(X It IIHTSMITRT Hftmr TIArge!

3, Y gJt faafiz G3u=r & Afumr
TaAge J)

1800 7 700

700 600 AR

600 A 500

500 - Y K

400 - //

200 /

100 -+

0 , :

10 20 30 40 50

73 3 <g dveg 8 T8 JgHTIMIT
T HH (range) ot 372

(A) 200 3 600

(B) 500 31000

(C) 400 31000

(D) 400 3 800

ﬁ
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Q48

Q49

Q50

What is the value of 0.5% of 56257

(A)  28.125
(B) 281.25
(C)  56.25
(D) 562.5

What number is every
terminating non-recurring decimal

called?

(A) Whole number
(B) Integer

(C) Rational number

(D)  Irrational number

What is the value of (—5.2)°+ Q50

(2.9)3 + (2.3)32

(A) -34.684
(B) —104.052
(C) 34.684
(D)  104.052

PAPER-5 SERIES-EA

non- Q49

Q48 5625T 0.5% T HB &t J?

(A) 28.125
(B) 281.25
(C) 56.25
(D) 562.5

fagt At fagr Ater J7
(A)  YI® Hfemir

(B) YyIa i

(C) ufanw Hftpr

(D) WUfane Afemr

(5.2 + (293 +(23)° T ¥s o
J?

(A) -3L.68L
(B) -10L.052
(C) 3L.68L

(D) 10L.052



Q51

The bar graph shown here gives the data Q51

of number of students passing out from
three different schools A, B and C over
the different academic years. Study the

bar graph and answer the questions.

600

#Schoolad |
#SchoolB |

#School T

What is the difference between the
passed students of school C in
academic year of 2016-17 and
students of School B in academic

year of 2014-15?

(A) 450
(B) 250
(C) 200
(D) 100

A ST 56 24 4 AgsT A, BW3 C
& A Je =3 fefenrgdgmm &
Afemr § TIAETT J| 9 T it
I3 W3 YHs T 839 e8|

mSchool & |
#5chool B |
#School € |

fefens A8 2016-17 Re Ag® C 3
féfena 715 2014-15 R AIE B &9
UH JE T fefenwrasmimer w3d dof
J?

(A) 450
(B) 250
(C) 200
(D) 100

. —————————————
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Q52 The bar graph shown here gives the Q52 &3 famrr 59 Joe 2 ¥y ffomd

data of number of students passing
out from three different schools A, B
and C over the different academic
years. Study the bar graph and answer

the questions.

600

500

400

% School A
240 H #School B

L# School €
200 -

100 +

2012-19

2018-15

2015-16 201617

2017-18

For which of the following years is
the percentage rise/fall in passed

students, the maximum for school B?

(A) 2015-16
~ (B)  2016-17
(C) 2017-18
(D)  2018-19

A T 56 S 4 Agst A, BW3 C
R un Iz <@ fefenrgdmm <t
Hftmr § TIAET J| 9 T it
3 w3 YHs T €39 fel|

# School A
#5choolB |

% School €

2014-15 2015-16 2016-17

2017-18 201

Jot i3 7 {9 fagd 7 AgS B
T ur J¢ fefenwrgemme Y3ims

TOr/wreT A 3 20 A?
(A) 2015-16
(B) 2016-17
(C) 2017-18
(D)  2018-19

BN ]
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Q53 The frequency polygon given here Q53 ffg &3t Idt gdggsr sSgsH

Y

Frequenc

represents data obtained from a
grouped frequency distribution giving
test scores of examinees.

Test Scores
45
40

W W
o -
i i

25 4
20 +
15 4
10 4
5

T T

s & T T T i
445 545 645 745 845 945 1045
Scores

Which class interval has the fewest

examinees?

(A) 44.5-545
(B) 54.5-645
(C) 445-64.5
(D) 49.5-59.5

>

Frequenc

Q54 A shopkeeper earns a profit of 17% Q54

on selling an article at 10% discount
on the printed price. What is the ratio
of the cost price and the printed price

of the article?

(A) 13:10
(B) 10:13
(€ 1:3
(D) 3:1

tfemirg g 83 7 I ifemr wiar
(test scores) T AHIST HIEII
(frequency) 28 3 yu3 wigfammd
fogfuz aget J1

Test Scores

45 -
40 -
35
30 A
25
20 ~
15 -
10 -
5 4

0 k4 T i T T T e 4

445 545 645 745 845 945 1045
Scores

fan =gqr wizgs &g A3 3 ue

Uifemirg et I&7?

(A) L4L5-5L5S
(B) 54L.5-6L5
(C) - hihS-8h.5
(D). 49.5~-589.5

g Tng @ Wifa3 ¥8 3 10% 8 3
g &% g TIoed 17% B
FHger J| TAZ © HIE HE W3 Wiz

WS T waU3 &t 97
(A) 13:10

(B) 10:13

(c) 1:3

(D) 3:1

P~ —— e e
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Q55 Divide % 2,500 among A, B, C in the Q55

ratio 20 : 12 : 18.

(A) 1,000:%600:%900
(B) %1,000:%700:%800
(C) T950:%700:%850
(D) %900:%750:%850

" SECTION - 3 : Mental Ability and

Logical Reasoning

have been given followed by two
conclusions numbered I and II
Assuming that all information in the
statements are true, analyse the two
conclusions together and determine
whether any of them logically and
definitely ~ follow(s) from  the

information given in the statements.

Statement :
I: Some lakes are rivers.
II: Some rivers are ponds.

III:  Some ponds are oceans.
Conclusion :

I: Some ponds are lakes.
II: No ponds are lake.

(A) Only I follows

(B)  Only II follows

(C)  Either I or II follows
(D) Neither I nor II follows

PAPER-5 SERIES-EA

25008 A B, Cflegdd20:12:18
T wous 3T 231

(A)  ¥1,000:% 600 :%900

(B) %1,000:%700:%800

(C) %950:%700:%850

(D} 900 T 750:T BEO

91 - 3 : HOTHE War3™ w3 394 War3™

Q56 1In this question, three statements Q56 fem yms &9, fFs aEs 3 g™ ©

S Hfepar | w3 Hftpyr 11 23 @ TSI

Hoe I8, ©° fifewm & fedfowm

ferdne a9 w3 fogufas a3 fa o=t

Aredrat ©F 399 HA3 w3 forfos 39

‘I UsE IIer J|

JdHE:

B 7 $15t, TfInr Is|

Il: g Sfa, 38™ Ia|

W: I8 3™, HITADD I

fien:

B Y 38™, §I&" TS|

I e R 3B, S &

(A) <@ fifer | usE gaer I

(B) a=s fieT Il ysE ager I

(C) 3 fiHeT 7 I USE e J

(D) & 3 fHer & dt Il Uger Iger
3




Q57 In this question, three statements Q57 form yms R, & Iua 3 e ©

have been given followed by two
conclusions numbered 1 and IIL
Assuming that all information in the
statement is true, analyse the two
conclusions together and determine
whether any of them logically and
definitely  follow(s) from the

information given in the statement.

Statement :
I: No tables are chairs.
1I: Some chairs are sofas.

[II:  All sofas are beds.
Conclusion:

D) No bed is a table.

1) Some chairs are beds.
(A)  Only I follows

(B)  Only II follows

(C) BothIand II follows
(D)  Neither I nor II follows

Q58 Find the missing term in the Q58

following letter series:

COL, FOI, IOF, LOC,

(A) MOO
(B) 00Z
(€©) POQ
(D) COD

S Aftr | w3 Hftpr 1| i3 I8 Ia)
Hoe J9, ©2 fifewn T fosfonm
ferdre a9 w3 fogufas ad fa °<F
Areardl ©F 399 Haz W3 ferfos 39
‘I YUBE gIr I

JES

I I < AT, JIA st J

. I JIAMMAD IS

n: A AD, USY IS

) U S Uy, A a1 I

) % JIAMMUBY IS

(A) 3w fifer | e gger J

(B) JeS fier | ysE g9 I

(Cc) wRfA I3 IIUBE dIe I

(D) & 3 fHer | & It Il Uger gaTr
3

Jat &3t wg st 9 U3z UT U3"
a3

COL, FOI, IOF, LOC,

(A)  MOO

(B) 00z

(C) POQ

(D) COD

#
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Q59 Find the missing term in the Q59

Q60

following letter series:

JK,QR,YZ,
(A) GH
(B) HI
€ U
(D) Gl

If X +Y means X is the mother of Y; Q60

X +Y means X is the father of Y and
X x Y means X is the brother of Y
and X - Y means X is the sister of Y
which of the following means that Q

is the mother of T?

(A) P+Q-R+SxT

B) P+S+Q+R-T

(C) T-Q+R=+SxP

D) P+Q-Rx SxT

Jat fiZ3T wHg B €9 U3 UT Uu3T
3

JK, GRYE, - T

(A) GH

(B) HI

c) u

(D) al

AT X + Y TWIH, X, Y T H F;
X:YTWIEX YT uzrInz

X x YT WIE, X, Y T ITT I W3

X - YT wIg, X, YT 3T I 3 IS
fefswmfes farmer wag I 3 Q, T &t
HrJ?

(A) P+Q-R+SxT

B) P+S+Q+R-T

(C) T-Q+R=+S=xP

(D) P+Q-Rx SxT

ﬁ
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Q6i

Q62

Use the relations defined below to Q61

solve these question.

A = B means ‘A is the father of B’
A > B means ‘A is the sister of B’
A <B means ‘A is the wife of B’

A % B means ‘A is the mother of B’
A $ B means ‘A is the son of B’

What should come in place of the
question mark (?) to establish-that A
is the brother of D? A$B%C ? D%E

Ay >
B) 3
€ <
D) =

A School bus driver starts from Q62

school and drives the bus 20 km
towards east and turns to the right
hand and drives 5 km. Then he drives
8 km after turning to his right side.
He then turns to his left and drive 5
km. Finally he turns to his right and
travels 12 km. How far is he from his

starting point and in which direction?
(A) 10 km, South

(B) 10 km, North

(C) 5 km, South

(D) 15 km, North

yfgsfas Agar € @33 ad|
A=BEWIEI A BT UZI
A>BTEWIEIJ A BT IS

A< BT WIHEJ A BT UIS I’
A%BTWIEI A BT HII
A$BTE WIHJ ‘A BT UIT I

fog 3w 996 B I A, D T 3T I,
yrs fds (?) & & @3 of wger
gdter 9?2

A$B%C ? DXE

A) >
(B) $
(c) <
(D) =
i Ag® g7 T IIE<I AIS 3 HY

g9 ¥ Ygg & 20 km HH gBET I
w3 AR HF & 5 km SA IFEE I
f1g €I wuE A3 YR HZ 9 8 km EH
ggge I 19 8 wuE ¥ Haer I
w3 5 km S IEET J| wWHdt 9
€T WU A 3T I W3 12 km ©F
w3gT dgTr J1 6 wuEt HIv3t

AfESt @ Aegs &g fdal g w3 fan
fomr &g uzr 7

(A) 10 km, THE

(B) 10 km, €39

(C) 5km,BHE

(D) 15km, 839

ﬁ
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Q63 The following figure is folded to Q63 It i3t it § = we s=@s B&

form a cube. Which representation of
the cube in the given option is correct

one?

6
6
5 4
(A)
2
1 6
(B)
4
3 2
©)
3
1 2
(D)

Ao famr I nid €3 feasut 79
Wz T fooFr fosgus AS I?

(B)

(D)

———————————————— e
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Q64 G's rank from top of the class was Q64 7HI KT G T AFS fidgd 3 3587 w3

35th and from the bottom of the class
was 14th. What will be K's rank from
top of the class if his rank from
bottom of the class is 23rd?

(A) 25
(B) 26
©) 27
(D) 28

Q65  Which of the following answer figure

completes the series of the question

figure?
(A)
(B)
©)
[\
D)

Q65

Ja" I 1 At A3 9 K © 7S

figg 3 fdor J=/Ir Aag I&° 3 GFe
'S 239 J?

(A} .25

(B) 26

). 27

(D) 28

YAS WSSt & 83t § yar gt 97

AT Ee RO R

(B)

(C)

0D IIO IO

(D)
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Q66  Which letter will replace the question Q¢6 23T Iret BFT <9 o) fda (?) <t

mark (?) in the given series?

V,T,2,1,B
(A) O
(B) P
© Q
D) R

Q67  Select the letter-cluster that will come (67

next in the given series

KFH, MHJ, OJL, QLN, ?

(A)
(B)
(©)
(D)

Q68  Select the letter-cluster that will come (68
in the place of the question mark (?)

in the following series.

FGNC, HIRH, JIMVM, ?

(A)
(B)
©)
(D)

RNP
RMO
SNP

SMO

NRVZ
LPZR
LQZS
LPYS

g ‘3 fga3 wiHg wedr?

VT Ba R
(A) ©
(B) P
(C) Q
(D) R

€7 wg-AHT & It &9, 7 &3
et Bt f9 yis fdp (7) & F ‘3
W ?

KFH, MHJ, OJL, QLN, ?

(A) RNP
(B) RMO
(C) SNP
(D) SMO

Er »iig-Fg & It &<, A &3t
It B <9 Yms fdp (7) S & 3
nreJr?

FGNC, HJRH, JMVM, ?

(A) NRVZ
(B) LPZR
(C) LQzs
(D) LPYS

PAPER-5 SERIES-EA



Q69  Select the number that will come next Q69 €1 Hitmr & I ad, 7 I& &3

in the following series. A g ydh g () ‘I wWedh|
13, 18, 25, 39, 37,42, 13,18, 2%, 340, 37, &2,

A) 47 (A) 47

(B) 49 (B) &9

(C) 50 (C) 50

(D) 53 | (D) 53

Q70  Select the number that can replace the Q70 €T HAftmr ge 7 J&' 23 51 &9
question mark (?) in the following YHS fds (?) S = 3 7|

series.
16, 19, 25, 34, 46, ?

16, 19, 25, 34, 46, ?

A) 5l (A) 51
®) 6l (B) 61
©) 60 (C) €0
(D) 64 ' (D) 6k

Q71 Select the number that can replace the Q71 €T Hftmr g 7 I &3 &4t <o
question mark (?) in the following 1{%1"5?; (?)S ' & Al

series.

25, 35,59, 103,173, ?

25, 35; 59, 103:173, ¥

(A) 265 R
(B) 268 B, e
©) 270 (C) 270
(D) 275 | (D) 275

.ﬁ
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Q72 Select the option that can replace the Q72 9 fegmwy g 7 yis fde (?)
question mark (?) and complete the g HaTr g3 I fig3a s &
given figure series. yJr 99 AT J

AN & )] 7 AN X 2

o, o,

(A) (A)
Q) Q)

(B) (B}
&) ey

©) (©)
(X

(D) @ (D)
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Q73

Q74

In a company, all employees are (73

required to complete a minimum
three types of training to get

permanent status.

ETHICS

REGULATION

" ALNNO3S
NOUYRBOAN

PERSONAL
INPACT

Based on the given diagram, how
many employees get permanent status

in the company?

(A) 334
(B) 251
(C) 280
(D) 347
Select the answer figure that can (74
replace the question mark (?) in the
series given in the problem figure.
Problern Fig
WA | W=
el
W% | =
s 1 2 3 i
A) 1
B) 2
< 3
(D) 4

f3& famdt & figsdt § yar a9%
< 83 It I

REQULATION

ALMNIIS
NOUYRNOIMN!

PERSONAL
IMPACT

&3 9 fo3g © w9 3, &S

Y3 9% I&7?

(A) 33%

(B) 251

(C) 280

(D) 23L7

€9 €39 39 T& = Iz 3
M fg39 <o &3t 8t © yis
fds (?) S & & A

WA | 2w S|

A B G D E
Wi & (R

i

(B) 2

(C) 3

(D) &
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Q75 Select the option figure that will Q75 € fegsyu mfrqs?r O EII RIS
replace the question mark (?) in the 3t y)p-f‘aig’r B &g yas fgs (?)
following figure series. T IS ‘I Wl

-2

(A)

(C)

0
@
| (B) @ | (B)
.®
@

®e 006

(D)
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SECTION-4 : Language Skills (Punjabi/ English) / 3791-4 : 3™HE} € g&d (UA=0 »iadq)

Q76

Q77

Q78

Q79

Read the following sentence and identify the part that has an error.

It is healthy / to eat / a bowl of fresh, green salad / than a packet of chips.
(A) Itis healthy

(B) toeat

(C) abowl of fresh, green salad

(D) than a packet of chips

Select the most appropriate SYNONYM of the given word.
SOLEMN

(A) splendid

(B) informal

(C) frivolous

(D) serious

Choose the most appropriate ANTONYM of the given word.
BENEFICIAL

(A) useful

(B)  helpful

(C)  harmful

(D)  careful

Select the grammatically correct sentence from the following options.
(A) I metaman who knows your uncle.
(B) Who knows your uncle I met a man.
(C)  Your uncle knows who I met a man.

(D) 1have met a man knows your uncle who.

#
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Q80 ‘I8 HEE T A wAISH WaET I
(A) Noise
(B) Noisy
(C) Noisome
(D) Noisily

Read the following passage carefully and answer the given questions from Q 81 to

Q 8s.

Years ago, when I was a young Assistant Professor at the Harvard Business school, I
thought the role of business schools was to develop future managers who knew all about the
various functions of business, to teach them how to define problems succinctly, analyse
thesp problems and identify alternatives in a clear, logical fashion and finally, to teach them
to make an intelligent decision. My thinking gradually became tempered by living and
working outside the United States and by serving seven years as a college president. During
my presidency of Babson College, I' added several additional traits or skills that I felt a

good manager must process.

One must have the ability to express oneself in a clear articulate fashion. Good oral
and written communication skills are absolutely essential, if one is to be an effective

manager. One must possess that intangible set of qualities called leadership skills. To be a

PAPER-5 SERIES-EA [35]



good leader, one must understand and be sensitive to people and be able to inspire them
towards the achievement of a common goal. Effective managers must be broad-minded
human beings who not only understand the world of business but also have a sense of the
culture, social, political, historical and (particularly today) the international aspects of life
and society. This suggests that exposﬁre to the liberal arts and humanities should be a part

of every manager’s education.

A good manager in today’s world must have courage and a strong sense of integrity.
He or she must know where to draw the line between the right and the wrong. That can be
agonisingly difficult. Drawing the line in a corporate setting sometimes involves having to
make a choice between what appears to be conflicting ‘rights’. For example, if one is faced
with a decision about whether or not to close an ailing factory, whose interests should
prevail? Those of stock holders? Of e'mployees? Of customers? Or those of the community
in which the factory is located? It’s a tough choice. And the typical manager faces many

other.

But now I have left behind the cap and gown of a college president and put on the
hat of chief executive officer. As a result of my experience as a corporate CEO, my list of

desirable managerial traits has become still longer.

It now seems to me that what matters most in the majority of organisations is to have
reasonably intelligent, hardworking managers who have a sense of pride and loyalty
towards their organisation; who can get to the root of a problem and are inclined towards

S
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action; who are decent human beings with a natural empathy and concern for people; who
possess humour, humility and common-sense; and who are able to drive it with a stick-to-it

attitude and patience in the accomplishment of a goal.

It is the ability to make positive things happen, that most distinguishes the successful
manager from the mediocre or unsuccessful one. It is far better to have dependable
managers who can make the right things happen in timely fashion than to have brilliant and

highly educated ones who can do excellent planning but not implementing.

Q81 What is the present position held by the author?
(A) College President |
(B) Bank Manager
(C)  Motivational Speaker

(D) CEO

Q82 According to the author the role of business schools is to:
(A) develop skills
(B) develop a sense of integrity
(C) develop future managers

(D) provide moral education

ﬁ
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Q83 What is the pre-requisite for developing the social, political, historical and

international aspects of life and society?

(A) Learning managerial skills

(B)  Exposure to liberal arts and humanities
(C) Developing analytical skills

(D) Inclination towards welfare programs

Q84 Find the word from the passage which means the same as ‘Attribute’.
(A) Exposure
(B)  Essential
(C)  Trait

(D) Identity

Q85 According to the author what can be a difficult choice?
(A) to draw the line between right and wrong
(B)  to possess knowledge and skill
(C) tobeagood leader and manager

(D) to satisfy oneself and others

s

_—#———‘
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Q86 I fEfmmorse &9 §u Agv ge|

(A)

(B)

(C)

(D)

Q87 ‘AfewTEt TwEl &g Ha ', WHTE YT FJ

(A)

(B)

(C)

(D)

Q88 WHI YA A &8 A3 HIea" ge|

(A)

(B)

(C)

(D)

g 37 At
SHMTET T 318 & wieE
fomsr g

g9 gAE!
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Q89 ‘Gu = iy W2 =y I, fid A= e
(A) T2
(B) 38T
(C) cTIms

(D) HHIZC

Q90 ‘Exile’ HEE T AJT YA wigee Il
(A)  HEH3T

(B) WAf33<

(C) WeaAd

(D) <7 fagsr

eI ged s s uI w3 Y913y 9s3a2 €39 fed
HEH & Afw3T @ U3 63 < wdd uz'€ U9 99 B¢ I6, Ud e 39 8H ehimys-
yfegsmmer AeT 3, 89 B3 g It wie I8ls Hoe &8 A gaemmas! W ©F J8 &

mi’fmr%a% ST GTani wH wife-a8ls Hae feg 83 Ade Il YI'36 ARAD A3 936
HE B It &f, A WE3S 3 W3S © Wal-HaT <t 33 T4
BN T TIT H Y TTHS YfeaItmet Jt fearw —arEr I AR & 73T B US-
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Ifge &t wgEr g9 AUR IS| A8--Ag ufguret 7 Ig-Ji3 fegt fegrat BEt G gt v
J, 3 Ba-Ugr (0939) & Ha-To& Uuduar feg fan & 73t © 935, Wo3s W3 WRo3s
HAS YIleg Yyu3 dde Ifde Ia

Q91 fer I3 v fAgdy J -

(A) IJE S 3T
(B) H&H T THIG
(C) BN HA3I
(D) uTFT AT

Q92 W& TMTHE YfedImimer A foaA &8 7 gaer J ?
(A) S AETEE

Q93 YI3s ARAT fag3 HE © Wial Hal I IS ?

(A) MWII3ISHS
(B) WI3E HS
(C) VIS

(D) T3S, WI3S M3 WTY3IS HS

w
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Q94 BF-TI3 (Ja8I) < fagdt uduar feg faR & 731 © 935, WI36 W3 T3S

HAST YEIe Je 967
(A)  Ha =gdt

(B) feuzgu

(C) FeEgy

(D) HM3A

Q95 BIN3T T AT fag TS YfeaShet fedma arar J |
(A)  UBNTEMT
(B) WI HIEr
(C) W& T

(D) YIHA T

SECTION-5 :Digital Literacy and Awareness 91 - 5 : f3AES AHI3™ W3 ANEA3T

Q96 What is the full form of VDT? Q96 VDT B Yar &H &t 37
(A)  Video Display Type (A) SIAE ZAUS efey
(B)  Video Device Terminal (B) <IE f3efon caoHias
(C)  Video Display Terminal (c) <IE fIAud chites
(D)  Visual Display Type (D) fegws famud ooy

——————————— e ———
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Q97 Which of the following pair of Q97 It RfawTRT AEIA faefn Yarg-
fgefon e fagzr A A 372

storage device type — device is

correct?

L Magnetic disk — Hard disk
I1. Optical disk — DVD

(A) Onlyl

(B) Onlyll

(C) BothIandII

(D)  Neither I nor 11

Q98 In MS Word 2019, which shortcut (98
key is used to open find and replace

. dialog box with replace tab active?

(A) Alt+H
(B) Cul+H
| (C) Ctrl+R
(D) Alt+R

s

(A)

(B)

(C)

(D)

Nasfed f3Aa — I93 3

Eudtas faraa —F<&3T

fAgg |

fAgz 1l

BRI

3T IeTTI

MS Word 2019 f&g, faadt mracde at

Tt 293 foudn 39 wafee &8 13
w3 FBA Ifesr g9A § UEE B8
3T At 9?7
(A)  Alt+H
(B) Ctrl +H
(C) Ctrl + R
(D) Alt+R

———————————————————————— e —
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Q99 In MS Excel 2019, negative numbers Q99 MS Excel 2019 g, fI=3Hx

can be displayed in . Hitmrat &g Yeafaz I Aaemm
Jol
L. parentheses
gaget
1L red
. TSI
(A) Onlyl
(A)  fAge
B) Onlyll |
(B)  Only (8) fAg=1l
(C) BothIandII C) 1w
" (D) Neither I norII (D) dII& I

Q100 In Internet Explorer browser, you can Q100 ffegse warudas gewa <9, A

see thumbnail view of all the open A9 ¥ 2F T HE6E foH 2 Aee
tabs. For this purpose we should J| for G2F BY AG 29 UH SHE BE
select ” option to view web «  »fegsy T O9F aIat gdiet
pages. JI

(A) preview : (A yfeg

(B) normal (B) &IHB

(C)  quick Tabs (c) oftx2=m

(D) favorites | (D) O=fad=

ﬁ
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Read the following instructions carefully:

35 Tad geest § fmis &8 ug:

1.

10.

1.

Out of the four answer options given for each question,
Candidate has to be darkened only one option as answer
on the OMR Answer Sheet. The answer once marked can

not be changed.

The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the
specified space in the OMR Answer Sheet.

The candidate needs to write correct and same Test
Booklet No. & Test Booklet Series in attendance sheet as

these are printed on Test Booklet.

Candidate needs to show his / her Admit Card whenever

it is demanded by the Invigilator.

Candidate is not allowed to leave the seat/ test center
without taking special permission from Invigilator or

Center Superintendent.

The candidate is not allowed to leave the Test Hall
without signing on attendance sheet & handing over
OMR Answer Sheet to the Invigilator.

Use of Pencil/Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules and
Reéulations of the Recruitment Board with regard to
their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of

the Recruitment Board.

Candidate must return OMR Answer Sheet &, Treasury
Copy to invigilator once after the Examination is
completed. Candidate can only leave the Examination
Centre once after receiving the Candidate OMR copy

from Invigilator.

The Candidates are required to submit the Test
Booklet to the Invigilator after the exam.

Question Paper will be available on Recruitment Portal
for future references within 24 hours after last shift of

examination is completed.

1.

Hie 3 T8 g8 unrfie ds &5 38 B feasy § €33 = a5'
3" I fx =9 fde3 i3 e €39 § wefonr &t 7 Aol

ST § fog weid se@e sder 3 ¥ €39 Fie yft & R
Oiieeg § €339 Hic '3 feug-Gte ad & foms &ff sarge
gderl Oiees § Grhivrg €39 Hie Re fogaes Aqf 3
fogrer I3 a3 & wiue 35 &89 a4t feve gdier

gade Al ey J=dt 7 2Ae gade 3 80 I¢ I5|

faaars eorar Hidt A 3 SfieTd § wuE EET 993 fedrge
SEC

fsoes #F deg @ pudde 3 femm wiimr 32 i, 38 &
erieeg W Hie Affemr ST odt 83 AT/ AeRl |

Qmee'a?;w‘éra'ﬂé?rﬁe?mé}?ﬁwﬁgﬁﬁﬁz
383 foags § HD fast Yifimr o8 3 w99 Ave & wriamr ot
3

Dot/ fedafss/ Nens Aogded & 293 996 & Hordt I

Yfimr g5 e 89" @ wrade © Heg R Svilees Ur yfer
ITH =93 @ A S W3 fefasedt wiits Jedt wefos Sa1
A HHfEwt & 333t 893 © fsmdt w3 fefesmnit wgH'a faverfenr
AT

Yl w3 JT 3 wmiE, Sfiees wuet Sihinrg €39 Hie,
e ge3d & anft fsaes & TuR F39r/aden fsaes 98
Sfeeg & g andt firse 3 gme It Sriiees Yiftmr I8
&3 AIe I

10. fifemr 3 gre Sriteeret § wruE 2oe gade fsaas a8 mff

FIget I

11. fuzst Yfemr fitge @ weis e 3 2u wifenr 2 vieg-vies 33t

9o §3 sfad gefont S8 yrs U39 QussT J=aT

Note: English Language will prevail if there is any discrepancy in instructions for Punjabi Language.
¥e: Aag Unrsh 3 o gefet feg 36t @ wizg ufenr wer 3 37 wiew 3 T8t gerfes yirea Il




